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Sets

One more built-in Python container type
Set literals are enclosed in braces
Duplicate elements are removed on construction

Sets are unordered, just like dictionary entries

>>> s = {3, 2, 1, 4, 4}
>>> 5

{1, 2, 3, 4}

>>> 3 1n s

True

>>> len(s)

4

>>> s . union({1, 5})

{1, 2, 3, 4, 5}

>>> s . intersection({6, 5, 4, 3})
{3, 4}
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contains no duplicate items

def empty(s):
return s is Rlist.empty

def set contains(s, v):
if empty(s):
return False
elif s.first == v:
return True
return set contains(s.rest, v)
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n: size of the set

R(n): number of steps required to perform the operation

for sufficiently large values of n.
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Time order of growth
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Proposal 3: A set is represented as a Tree. Each entry is:
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What Did | Leave Out?

Sets as ordered seqguences:
Adjoining an element to a set

Union of two sets

Sets as binary trees:
Intersection of two sets

Union of two sets

That's homework 8!

No lecture on Wednesday
Midterm 2 tomorrow, 7pm-9pm

Good luck!



